KING FAHD UNIVERSITY OF PETROLEUM & MINERALS 
DEPARTMENT OF MATHEMATICS & STATISTICS 
DHAHRAN, SAUDI ARABIA
 
MATH 131: FINITE MTHEMATICS
Semester 161
Major Exam One
Sunday, October 16, 2016 
Allowed time 75 minutes  

Instructor: Musawar Amin Malik

Name:                                   ID#:     	    	   

Serial #:                               Section:

Directions: 
1) You must show all your work to obtain full credit. 
2) You are allowed to use electronic calculators and other reasonable writing accessories that help write the exam. 
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	Question No
	Full Marks 
	Marks Obtained 

	Q1 




	5


	



	Q2
	5
	

	Q3
	5
	

	Q4
	3+3+3
	

	Q5
	4
	

	Q6
	5
	

	Q7
	5
	

	Q8
	5
	

	Q9
	6
	

	Q10
	6
	

	Total 


	55

	





1. A business man invested $150,000, part at an interest rate of 5% annually and the reminder at 6% annually. The total interest at the end of 1 year was equivalent to an annual   % rate on the entire $150,000.How much was invested at each rate? 
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2. To produce 1 unit of a new product, a company determines that the cost for material is $2.50 and the cost of labor is $4.The fixed cost, regardless of sales volume, is $5000.If the cost to a wholesaler is $7.40 per unit, determine the least number of units that must be sold by the company to realize a profit.
 





3. A company produces alarm clocks. During the regular workweek, the labor cost for producing one clock is$2.00. However, if a clock is produced on overtime, the labor cost is $3.00. Management has decided to spend no more than a total of $25,000 per week for labor. The company must produce 11,000 clocks this week .What is the minimum number of clocks that must be produced during the regular workweek?











4. 
a. Find a general linear form and the slope-intercept form of the given equation
 +  = 











b. Determine whether the lines below are parallel, perpendicular, or neither. Why?


c. Find an equation of the line passing through and perpendicular to the line
. Give the answer in slope intercept form.














5. An advertiser goes to a printer and is charged $89 for 100 copies of one flyer and $93 for 200 copies of another flyer. This printer charges a fixed setup cost plus a charge for every copy of single–page flyer. Find a function that describes the cost of a printing job, if  is the number of copies made.














6. The demand function for an office supply company’s line of plastic rulers is  where  is the price (in dollars) per unit when  units are demanded (per day) by consumers. Find the level of production that will maximize the manufacturer’s total revenue, and determine this revenue.













7. A chemist has two chemicals that contains different concentrations of acid. One is 5% acid and the other is 10% acid. How many pounds of each should he mix to obtain 30 pounds of a 9% concentration?













8. Let      be the supply equation for a fishing company’s product, and suppose the demand equation is        
a. If a subsidy of $0.75 per unit is to be given to the company, how will the original equilibrium price be affected if the demand remains the same?



















b. Determine the total revenue obtained by the company at the equilibrium point both before and after the subsidy.




9. Solve the given system

3t = 2r + 2











10. A surgical equipment’s manufacturer of a special instrument sells all that is produced. The total revenue is and the total cost is  where represents the number of units produced and sold.
(a) Find the level of production at the break–even point.








(b) Find the level of production at the break–even point if the total cost increases by 4%.
